0Os1620%Tanvald 7:38 — Kienov 7:54) 854.202
0s16207(Tanvald 8:18 — Harrachov 8:47) 854.202
0s16209(Tanvald 8:54 — Kienov 9:11) 854.212

Os16211(Tanvald 9:38 — Harrachov 10:05)

810.263 + 854.2@54.212

Os16213(Tanvald 10:19 — Harrachov 10:48)

854.212

0Os16214(Kotenov 7:57 — Tanvald 8:16)

854.202

Osl16215Tanvald 10:55 — Harrachov 11:24)

810.263 + 854.202

Osl16217(Tanvald 12:19 — Harrachov 12:48)

854.212 + 854.202

Os16218(Harrachov 9:09 — Tanvald 9:36)

854.212 + 854.202

0s16220(Kotenov 9:58 — Tanvald 10:17) 854.212
Os1622]1(Tanvald 13:34 — Harrachov 14:03) 854.202
Osl16222(Harrachov 11:04 — Tanvald 11:37) 854.202 + 854.212
Os16223(Tanvald 14:19 — Harrachov 14:48) 854.212
Os16224(Harrachov 11:50 — Tanvald 12:17) 854.212 ER=E= =

0Os16227(Tanvald 15:34 — Kienov 15:56) 854.212
Os16228(Harrachov 12:58 — Tanvald 13:25) 854.202
0Os16229(Tanvald 16:19 — Harrachov 16:48) 854.212
Os16230(Harrachov 13:44 — Tanvald 14:17) 854.212 + 810.263

0Os16233(Tanvald 17:34 — Kienov 17:56) 854.212
Os16234(Harrachov 14:58 — Tanvald 15:25) 854.212
Os16235Tanvald 18:19 — Harrachov 18:48) 854.212

0Os16236(Kotenov 15:58 — Tanvald 16:17) 854.202 + 854.212

0s16237(Tanvald 18:54 - Desna Riedlova vila 19:00) 810.263
Os16240(Harrachov 16:58 — Tanvald 17:25) 854.212
Os16241(Tanvald 20:19 — Harrachov 20:48) 854.212

0Os16242(Kotenov 17:58 — Tanvald 18:17) 854.212
Osl16244(Harrachov 18:58 — Tanvald 19:25) 854.212

Osl16245Tanvald 22:27 — Desna 22:31) 854.212
Osl16248(Harrachov 21:08 — Tanvald 21:49) 854.212




